. VCE & PDF https://www.pass4itsure.com/jn0-1361.html
g 2024 Latest passditsure JN0-1361 PDF and VCE dumps Download

PassditSure.com

JINO0-13619%As

Service Provider Design Specialist (JNCDS-SP)

Pass Juniper JNO-1361 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/jn0-1361.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

JNO-1361 PDF Dumps | JNO-1361 Study Guide | JNO-1361 Exam Questions 1/4


https://www.pass4itsure.com/jn0-1361.html
https://www.pass4itsure.com/jn0-1361.html
https://www.pass4itsure.com/jn0-1361.html

. VCE & PDF https://www.pass4itsure.com/jn0-1361.html
E 2024 Latest passditsure JN0-1361 PDF and VCE dumps Download

PassditSure.com

QUESTION 1

Exhibit: You are asked to ensure that most traffic that traverses your network is load balanced over all of the equal cost
links between the routers in your network. However, you must also ensure that traffic from ISP A that is destined for ISP
D must traverse the R1-R2-R3-R4-R5 path. Referring to the exhibit how would you accomplish this task?

Traffic destined
for ISPD
All links inside
ISP E have an
ISP A ISP B OSPF cost of 1 ISP C ISP D

A. Force the ISP A to ISP D traffic over RSVP-signaled LSPs.

B. Adjust the BGFs LOCAL PREF attribute to ensure that the raw IP packets follow the required path.
C. Adjust the OSPF metrics of each link so that the raw IP packets follow the required path.

D. Force the ISP A to ISP D traffic over LDP-signaled LSPs.

Correct Answer: A

QUESTION 2

What are two ways that allow BGP route reflectors to advertise more optimal IGP next hops? (Choose two)
A. UseBGP-ORR.

B. Use SPRING.

C. Implement route reflectors at each POP.

D. Implement a centralized route reflector.

Correct Answer: AD
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QUESTION 3

You work for a service provider that offers L3VPN services to its customers. While designing L3VPN
solutions for customers, you sometimes need to share routes between routing instances as part of the
design.

What are two reasons for sharing routes between routing-instances? (Choose two)

A. so customers can reach the Internet

B. to allow the service provider\\'s OoB network to be reachable by customers

C. so customers can reach the service provider\\'s public cloud infrastructure

D. to support network address translation

Correct Answer: AC

QUESTION 4
Exhibit:
Referring to the exhibit, which two methods would be used by the designer of ISP E to ensure that traffic

between ISP C and ISP A will traverse through ISP B? (Choose two.)

Traffic destined
for ISP C
SP C Routes

ISP A ISPD

A. Apply the BGP import policy (to EBGP peers) on R4 anaVor R5 to adjust the local preference on the ISP C routes so
that the path through ISP B is more preferred

B. Apply the BGP export policy (to IBGP peers) on R4 and R5 to adjust the MED on the ISP C routes so that the path
through ISP D is less preferred.

C. Apply the BGP import policy (to EBGP peers) on R4 and R5 to modify the AS PATH attribute so that the path through
ISP D is less preferred.
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D. Apply the BGP import policy (to EBGP peers) on R4 to adjust the ORIGIN for the routes received from ISP B to
unknown.

Correct Answer: BC

QUESTION 5

Your customer requires redundant routers and wants to use VRRP for the default gateway at their Internet edge. Which
two statements are correct in this scenario? (Choose two )

A. VRRP will only support two routers
B. The VRRP master and backup send advertisements to each other at regular intervals.
C. VRRP dynamically elects master and backup routers

D. VRRP for IPv6 provides a much faster switchover to an alternate default router than IPv6 neighbor discovery
procedures

Correct Answer: BC
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